FINAL EXAM REVIEW
SECTION I – OPTIONS 30 points
1. Uncovered Strategies

a. Buy/Sell Call, Puts and Straddles
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b. Spreads: Bull, Bear, Butterfly
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2. Black Scholes Option Pricing for Calls/Puts
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SECTION II – FORWARDS/FUTURES (35 points)
1. Hedge Strategies (100% Hedged, Partial, Optimal)
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H = Cor x (SD k / SD s) 
H x Volume / Contracts


2. Short/Long Future Contracts

John bought a long position on Silver – locked in K = $15.45 per oz for 1 contract (5,000 oz)
At delivery day Silver in $16.45 – what is profit and loss of John 

Profit; $1 x 5,000 = 5,000 profit 


SECTION III – SWAPS AND CDS (35 points)
1. Interest Rate Swap (2 Party Swap with Swap rate)
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2. Currency Swap
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3. CDS Spreadsheet

[image: ]
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Interest Rate Swap

Fixed Rate 5.00% Fixed Rate 6.20%

Float (L+) 0.30% Float (L+) 1.00%

IR View: Low IR View High

Choose: Fixed Choose: Float

Cash Flow: Cash Flow:

Pay -5.00% Pay -(L+1.0%)

Pay -LIBOR Pay -4.95%

Receive 4.95% Receive + L  

Net Pay  L + 5 bps Net Pay -5.95%

Savings 0.25% Savings 0.25%

SWAP AGREEMENT - TERMS

Notional Amount 100,000,000  

Swap Rate:

4.95%

Years 5

Company A Company B
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BOND INFORMATION

Construction Note - Face Value (€)= € 100.00million (Euros)

Euro-denominated Fixed Rate= 6.00%

Years (Term) = 3years

SWAP INFORMATION

Spot Exchange Rate= 1.15x$ per €

Nominal Amount in $

115 $       million

Dollar-denominated Fixed Rate = 7.00%

UNHEDGED - WITH A AN EXCHNAGE FUTURE ASSUMPTION

Time



Unhedged 

Euro 

Cash Flow

 (€)

Forward 

Exchange 

Rate

$/€

Hedges 

Dollar 

Cash 

Flow

($)

Present 

Value of the 

unhedged 

Cash Flows

($)

1 -6.00 1.1500 -6.9 $6.51

2 -6.00 1.1700 -7.02 $6.25

3 -106.00 1.2100 -128.26 $107.69

$120.45

HEDGED VIA SWAP CONTRACT Benefit = $2.37

Time



 

Cash Flow

 ($)

Hedges 

Dollar 

Cash 

Flow

($)

Present 

Value of the 

hedged Cash 

Flows

($)

1 -8.05 -8.05 $7.59

2 -8.05 -8.05 $7.16

3 -123.05 -123.05 $103.32

$118.07
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CREDIT DEFAULT SWAP

LOAN AGREEMENT TERMS:

Loan Amount: 100,000,000    

Interest Rate: LIBOR + 3.00%

Maturity/Term: 5years

CDS Contract

Notional Amount = 100,000,000     million

Time

(six months)

Lender A

receives

LIBOR

SPREAD

Lender A 

pays CDS

Rate based

on Forward

Rates

Cash Flow

Received from 

borrower 

CDS Cost

paid to Counter 

party



Cash Flow

Recived



0

1 3.00% 2.00% 3,000,000            (2,000,000)          1,000,000           

2 3.00% 2.40% 3,000,000            (2,400,000)          600,000              

3 3.00% 3.25% 3,000,000            (3,250,000)          (250,000)            

4 3.00% 4.00% 3,000,000            (4,000,000)          (1,000,000)         

5 3.00% 4.00% 3,000,000            (4,000,000)          (1,000,000)         

    Total (650,000)            
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Action Type X Premium Stock Payoff Profit BE 1 BE 2 HPR %

BUY CALL 100 5 120 20 15 105 300%

BUY PUT 68 3 62 6 3 65 100%

BUY CALL 100 5 99 0 -5 105 -100%

BUY PUT 68 3 70 0 -3 65 -100%

BUY CALL 100 5 101 1 -4 105 -80%

BUY PUT 68 3 67 1 -2 65 -67%

SELL CALL 90 8 105 -15 -7 98 NA

SELL PUT 75 5 68 -7 -2 70 NA

SELL CALL 90 8 96 -6 2 98 NA

SELL PUT 75 5 73 -2 3 70 NA

SELL CALL 90 8 89 0 8 98 NA

SELL PUT 75 5 76 0 5 70 NA

BUY STRADDLE 100 17 120 20 3 117 83 18%

SELL STRADDLE 70 12 65 -5 7 82 58 NA

BUY STRADDLE 100 17 100 0 -17 117 83 -100%
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Action Type X1 X2 Prem 1 Prem 2

Prem 3

(Avg)

Stock Payoff Profit

BUY/LONG BULL CALL SPREADS 70 90 8 4 95 20 16

BUY/LONG BEAR PUT SPREADS 100 120 8 13 100 20 15

BUY/LONG BULL PUT SPREADS 65 85 5 8 50 -20 -17

BUY/LONG BEAR CALL SPREADS 35 45 4 2 40 -5 -3

BUY/LONG BUTTERFLY CALL SPREADS 70 90 11 8 9 100 0 -1

SELL/SHORTBUTTERFLY CALL SPREADS 75 85 8 5 6 82 -3 -2
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BLACK-SCHOLES VALUATION

CALL OPTION 

A B C D E F G H I

4

5

INPUT OUTPUT

FORMULAS

6

7 Standard Deviation  (σ) =

0.4

d1 = 0.325 =(LN(D11/D12)+(D10-D13+(D8^2)/2)*D9)/(D8*SQRT(D9))

8 Expiration (in years)  (T) =

1

d2 = -0.075 =+G8-D8*SQRT(D9)

9 Risk-Free Rate (Annual) (i) =

0.05

N(d1) = 0.627 =NORMSDIST(G8)

10 Stock Price (S ) =

70

N(d2) = 0.470 =NORMSDIST(G9)

11 Exercise Price (X) =

70

12 Dividend Yield (annual) (δ) =

0 C = 12.6161 =+D11*EXP(-D13*D9)*G10-D12*EXP(-D10*D9)*G11

13
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BLACK-SCHOLES VALUATION

PUT OPTION 

A B C D E F G H I

4

5

INPUT OUTPUT

FORMULAS

6

7 Standard Deviation  (σ) =

0.4

d1 = 0.230 =(LN(D11/D12)+(D10-D13+(D8^2)/2)*D9)/(D8*SQRT(D9))

8 Expiration (in years)  (T) =

0.5

d2 = -0.053 =+G8-D8*SQRT(D9)

9 Risk-Free Rate (Annual) (i) =

0.05

N(d1) = 0.591 =NORMSDIST(G8)

10 Stock Price (S ) =

110

N(d2) = 0.479 =NORMSDIST(G9)

11 Exercise Price (X) =

110

12 Dividend Yield (annual) (δ) =

0 P = 10.9076 =D11*EXP(-D9*D8)*(1-G10)-D10*EXP(-D12*D8)*(1-G9)

13


image5.emf
PARTY B

SHORT: Wheat Farms Inc.

CONTRACT: 5,000              bushels

VOLUME: 1,000,000      bushels

NO OF CONTRACTS: 200.00           (1,000,000/5,000)

PRICE: $ 4.45

EXP. DATE: 3/15/20XX(6 months)

TYPE:  Cash Basis

Wheat Farms Inc.

Transaction on Delivery/Expiration Day

   Increase/Decrease in Spot Prices

-$ 0.50 $ 0.00

$ 0.50

Scenarios - Spot Prices

$ 3.95 $ 4.45 $ 4.95

Revenue from Wheat Sales at Spot Price 3,950,000      4,450,000      4,950,000     

+ Profit/Loss form Forward Contract  500,000         -                  (500,000)       

Total Proceeds 4,450,000      4,450,000      4,450,000     

Fully Hedged

WHEAT PRICES ON DELIVERY DAY


